Parallelogram (HKMO Classified Questions by topics)

1992 FG7.1-2

¢ O4ABC 5 - T 7w ifA) - B(4, b)
Given that O4ABC is a parallelogram. A(@9)
G7.1 # a #n7E - Find the value of a.

G7.2 b & o Find the value of b.
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0(0, 0)
2004 FI2.2
© 5v ABCD 5 - &L g+ chg A Hpghenife s B 5 4(0,0)° B2, 1)
Clu, V2 D(1,2) e Fu+v=0> £ Qi -
Given that ABCD is a rhombus on a Cartesian plane, and the co-ordinates of its
vertices are A(0, 0), B(2, 1), C(u, v) and D(1, 2) respectively.
Ifu +v=Q, find the value of QO .
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Answers
1992 FG7.1 1992 FG7.2 2004 F12.2
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